u ecuaciones 1°© grado

con paréntesis |2
hoja 2
Ejemplo Ayudas
Enunciado + .+ =+
A(x- 5)- 5(2x- 3) +11=4x- 3(x+4)+2(5- 2X) Reglade ~ ~ | _ .
los signos: : B
Solucién: = &
4x- 20- 10x +15+11=4x - 3x- 12+10- 4x Pasos:
-BX-6=-3x-2 1°) Quitar paréntesis

2°) Agrupar términos semejantes

-3x=4 3°) Simplificar
4 . 4°) Despejar X
x=—=13
3 5°) Comprobar el resultado

Resolver la ecuacioén: Solucién Comprab.

1 |3x-3+2(x-2)=x-3

2 |5(2x- 3)- 8=4(x+1)- 25

3 | 4x+4(x+4)+4(4x+4)+4=-12

4 |5(4- x)- 3(x- 4)=-3x+4

5 | x+2(3- x)- 5(2x+1)- 8=0

6 |- 7x+5(2x- 3)- 2(x+1)=0

7 | 2(4x+1)- 4(5- x)- 5=2(10- x)- 12+3(5x - 7)

8 |05x-2,7(x- 3)+111=128- 3x

9 |105(x- 32)+824x=2(3- 4x)+6

10 | 2,43(2,41x+1,08)- 2,9(8,3- 21x)+6,21=0
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